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Example 6.35. 4 300 mm % 150 mm venturimeter is provided in a vertical pipeline carn)
oll of specific eravity 0.9, flow being upward, The difference in elevation of the throat section

enfrance section of the venturimeter is 300 mm. The differentinl U-tube mercury mepomieter sh

a paupe deflection of 250 mm. Caleulare:
[~ = !
wrge of oil, and

ference between fhe entrance section and the tiroal seciion,

} Pressur :'.'I.

Take the co-efficient af meter as 0.98 and specific gravity of mercury as [3.0, [UF]

solution Diameter at inlet, D, A mm = 0.3 m
Area of A - ¥ 0.3*=0.07Tm"*
4
Dhameter at thr D 150mm=0.15m
Area at throat, 4 I x 157 =0.01767 m" [
pecific gravaty of heavy howd (mercury)
m U-tube manometer, S 13.6 HLLHLLL
Specific gravity of liquid (oil) flowing \
through pipe, S5, = 0.9
Reading of differential manometer 150 mm p—n
y= 250 mm=0.25m _— Throat
= i i A
Ihe differential *A" 15 given by
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y Discharge of odl, O

Using the relation, Fig.6.31

. A4, a ol
0 = Oy % b 2 o[22}t | e have:
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007 »0.01767 [ s 3 K9

prermese st - ¥ ol 2 X 9.81%3.
\rfll_ll" 0.01767*
0.001212

e §.32 = (). 1489 m' /s {Ans.)
UL

) [} 98

(iN Pressure difTference | v and throal section:

" b i n
We know that = | 7 :

he= |4 Lz, |=3.53
by 11
By r
ot L k(2 ) =353
W W J
But 300 mm or 0.3 m (Ginven)
iy B iy o -
£l 1103 =351 or £l i 1.83
" 11! 4
o1 Py = (9.81
Example 6.36. A verfical venturimerer

0.8 and has fnlet
fand throat o aters af 150

150 mm

fon af the tlhroat is
et aaft Hh T ] v ix 40 Htrex/sec and the C ;= 0.96, calculate
the pressure difference bei

{Annn University)
Solution. Given: Sp. §

[ 20 mm 15 me £ T8 M 0075 m
0.8, 0D 150 mm = 0.15m; D mm 175 m
150 mm=0.1% m, K B .04 o 0,94
Pressu lilTerend }
g F 17 3
ik 1 6T m
A ! !
L .
v ' - ' 4
; D : (o ] 0.00442 o
i a
[ L — I J 2 A, W RE
o | i
. 0.01767 = 0.00442 r
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K565 = 4.429
14 565 = 4,429
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v 08 amid has inde
sclior aft the froad is
¢ .66 caleulafe
(Anna Unhversity)

Fig. 6.32. Vertical venturimober
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